

ELMETWALLY M. ELABBASY AND ELSAYED M. ELSAYED

ON THE SOLUTION OF THE RECURSIVE SEQUENCE

$$x_{n+1} = \max \left\{ x_{n-2}, \frac{1}{x_{n-2}} \right\}$$

ABSTRACT. We obtain in this paper the solution of the following recursive sequence

$$x_{n+1} = \max \left\{ x_{n-2}, \frac{1}{x_{n-2}} \right\}, \quad n = 0, 1, \dots$$

where the initial conditions x_{-2} , x_{-1} , x_0 are arbitrary non zero real numbers.

KEY WORDS: difference equation, recursive sequence, periodic solution.

AMS Mathematics Subject Classification: 39A10.

1. Introduction

Our purpose in this paper is to obtain the solution of the following recursive sequence

$$(1) \quad x_{n+1} = \max \left\{ x_{n-2}, \frac{1}{x_{n-2}} \right\}, \quad n = 0, 1, \dots$$

where the initial conditions x_{-2} , x_{-1} , x_0 are arbitrary non zero real numbers.

The periodic nature of nonlinear difference equations of the max-type has been investigated by many authors. See for example [1-9]. Since Elabbasy et al. [4] investigated the boundedness and the periodicity character of the following recursive sequence

$$x_{n+1} = \max \left\{ \frac{1}{x_n}, \frac{A_n}{x_{n-1}} \right\}.$$

Simsek et al. [8] investigated the solutions of the following difference equation

$$x_{n+1} = \max \left\{ x_{n-1}, \frac{1}{x_{n-1}} \right\}.$$

Definition (Periodicity). A sequence $\{x_n\}_{n=-k}^{\infty}$ is said to be periodic with period p if $x_{n+p} = x_n$ for all $n \geq -k$.

2. Main result

In this section we give a specific form of the solutions of the difference equation (1) and in each cases we can deduce that every solution of this equation is periodic with period three.

Theorem 1. Consider the difference equation (1) for $x_{-2}, x_{-1}, x_0 > 0$.

a) If $0 < x_{-2}, x_{-1}, x_0 \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

b) If $0 < x_{-1}, x_0 \leq 1, x_{-2} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

c) If $0 < x_{-2}, x_0 \leq 1, x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

d) If $0 < x_{-2}, x_{-1} \leq 1, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

e) If $0 < x_0 \leq 1, x_{-2}, x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

f) If $0 < x_{-1} \leq 1, x_{-2}, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

g) If $0 < x_{-2} \leq 1, x_{-1}, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

h) If $x_{-2}, x_{-1}, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

and so the solution is periodic with period three.

Proof. We will prove Case (a) (the other cases are similar and the proof will be omitted).

(a) Let $0 < x_{-2}, x_{-1}, x_0 \leq 1$, then $x_1 = \max \left\{ x_{-2}, \frac{1}{x_{-2}} \right\} = \frac{1}{x_{-2}}$ (since $x_{-2} \leq 1$, then $x_{-2}^2 \leq 1$).

Also, $x_2 = \max \left\{ x_{-1}, \frac{1}{x_{-1}} \right\} = \frac{1}{x_{-1}}$ (since $x_{-1} \leq 1$, then $x_{-1}^2 \leq 1$), and $x_3 = \max \left\{ x_0, \frac{1}{x_0} \right\} = \frac{1}{x_0}$ (since $x_0 \leq 1$, then $x_0^2 \leq 1$). By induction we obtain that $x_{3n+1} = \frac{1}{x_{-2}}, x_{3n+2} = \frac{1}{x_{-1}}, x_{3n+3} = \frac{1}{x_0}$ for $n \geq 0$, that is

$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}$. Thus, the proof is completed. \blacksquare

The following theorems can be proved similarly.

Theorem 2. Consider the difference equation (1) for $x_0 < 0 < x_{-2}, x_{-1}$.

a) If $x_{-2}, x_{-1} \leq 1, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

b) If $x_{-2} \geq 1, x_{-1} \leq 1, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

c) If $x_{-2} \leq 1, x_{-1} \geq 1, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

d) If $x_{-2}, x_{-1} \geq 1, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-2}, x_{-1} \leq 1, x_0 \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-2} \geq 1, x_{-1} \leq 1, x_0 \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-2} \leq 1$, $x_{-1} \geq 1$, $x_0 \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

h) If $x_{-2}, x_{-1} \geq 1$, $x_0 \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

Theorem 3. Consider the difference equation (1) for $x_{-1} < 0 < x_{-2}$, x_0 .

a) If $x_{-2}, x_0 \leq 1$, $x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

b) If $x_{-2} \geq 1$, $x_0 \leq 1$, $x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

c) If $x_{-2} \leq 1$, $x_0 \geq 1$, $x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

d) If $x_{-2}, x_0 \geq 1$, $x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-2}, x_0 \leq 1$, $x_{-1} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-2} \geq 1$, $x_0 \leq 1$, $x_{-1} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-2} \leq 1$, $x_0 \geq 1$, $x_{-1} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

h) If $x_{-2}, x_0 \geq 1$, $x_{-1} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

Theorem 4. Consider the difference equation (1) for $x_{-2} < 0 < x_{-1}$, x_0 .

a) If $x_{-1}, x_0 \leq 1, x_{-2} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

b) If $x_{-1} \geq 1, x_0 \leq 1, x_{-2} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

c) If $x_{-1} \leq 1, x_0 \geq 1, x_{-2} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

d) If $x_{-1}, x_0 \geq 1, x_{-2} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-1}, x_0 \leq 1, x_{-2} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-1} \geq 1, x_0 \leq 1, x_{-2} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-1} \leq 1, x_0 \geq 1, x_{-2} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

h) If $x_{-1}, x_0 \geq 1, x_{-2} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

Theorem 5. Consider the difference equation (1) for $x_{-1}, x_0 < 0 < x_{-2}$.

a) If $x_{-1}, x_0 \leq -1, x_{-2} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

b) If $x_{-1} \geq -1$, $x_0 \leq -1$, $x_{-2} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

c) If $x_{-1} \leq -1$, $x_0 \geq -1$, $x_{-2} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

d) If $x_{-1}, x_0 \geq -1$, $x_{-2} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-1}, x_0 \leq -1$, $x_{-2} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-1} \geq -1$, $x_0 \leq -1$, $x_{-2} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-1} \leq -1$, $x_0 \geq -1$, $x_{-2} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

h) If $x_{-1}, x_0 \geq -1$, $x_{-2} \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

Theorem 6. Consider the difference equation (1) for $x_{-2}, x_0 < 0 < x_{-1}$.

a) If $x_{-2}, x_0 \leq -1$, $x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

b) If $x_{-2} \geq -1$, $x_0 \leq -1$, $x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

c) If $x_{-2} \leq -1$, $x_0 \geq -1$, $x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

d) If $x_{-2}, x_0 \geq -1, x_{-1} \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-2}, x_0 \leq -1, x_{-1} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-2} \geq -1, x_0 \leq -1, x_{-1} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-2} \leq -1, x_0 \geq -1, x_{-1} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

h) If $x_{-2}, x_0 \geq -1, x_{-1} \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

Theorem 7. Consider the difference equation (1) for $x_{-2}, x_{-1} < 0 < x_0$.

a) If $x_{-2}, x_{-1} \leq -1, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

b) If $x_{-2} \geq -1, x_{-1} \leq -1, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

c) If $x_{-2} \leq -1, x_{-1} \geq -1, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

d) If $x_{-2}, x_{-1} \geq -1, x_0 \geq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

e) If $x_{-2}, x_{-1} \leq -1, x_0 \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-2} \geq -1$, $x_{-1} \leq -1$, $x_0 \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

g) If $x_{-2} \leq -1$, $x_{-1} \geq -1$, $x_0 \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

h) If $x_{-2}, x_{-1} \geq -1$, $x_0 \leq 1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

Theorem 8. Consider the difference equation (1) for $x_{-2}, x_{-1}, x_0 < 0$.

a) If $x_{-2}, x_{-1}, x_0 \leq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

b) If $x_{-1}, x_0 \leq -1$, $x_{-2} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, x_{-2}, \frac{1}{x_{-1}}, \frac{1}{x_0}, \dots \right\}.$$

c) If $x_{-2}, x_0 \leq -1$, $x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \frac{1}{x_{-2}}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

d) If $x_{-2}, x_{-1} \leq -1$, $x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \frac{1}{x_{-2}}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

e) If $x_0 \leq -1$, $x_{-2}, x_{-1} \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, x_{-1}, \frac{1}{x_0}, x_{-2}, x_{-1}, \frac{1}{x_0}, \dots \right\}.$$

f) If $x_{-1} \leq -1$, $x_{-2}, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ x_{-2}, \frac{1}{x_{-1}}, x_0, x_{-2}, \frac{1}{x_{-1}}, x_0, \dots \right\}.$$

g) If $x_{-2} \leq -1$, $x_{-1}, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \left\{ \frac{1}{x_{-2}}, x_{-1}, x_0, \frac{1}{x_{-2}}, x_{-1}, x_0, \dots \right\}.$$

h) If $x_{-2}, x_{-1}, x_0 \geq -1$. Then

$$\{x_n\}_{n=1}^{\infty} = \{x_{-2}, x_{-1}, x_0, x_{-2}, x_{-1}, x_0, \dots\}.$$

Proposition. *It is easy to see by induction that every solution of the following general difference equation*

$$x_{n+1} = \max \left\{ x_{n-k}, \frac{1}{x_{n-k}} \right\}, \quad n = 0, 1, \dots$$

is periodic with period $(k + 1)$.

References

- [1] AMLEH A.M., HOAG J., LADAS G., A difference equation with eventually periodic solutions, *Computers and Mathematics with Applications*, 36(1998), 401-404.
- [2] BRIDEN W.J., GROVE E.A., LADAS G., KENT C.M., Eventually periodic solutions of $x_{n+1} = \max \{1/x_n, A_n/x_{n-1}\}$, *Comman Appl. Nonlinear Anal.*, 6(1999), 31-34.
- [3] BRIDEN W.J., NESEMANN T., LADAS G., On the recursive sequence $x_{n+1} = \max \{1/x_n, A_n/x_{n-1}\}$, *J. Differ. Equations Appl.*, 5(1999), 491-494.
- [4] ELABBASY E.M., EL-METWALLY H., ELSAYED E.M., On the periodic nature of some max-type difference equation, *Int. J. Math. Math. Sci.*, 14(2005), 2227-2239.
- [5] EL-METWALLY H., GROVE E.A., LADAS G., A global convergence result with applications to periodic solutions, *J. Math. Anal. Appl.*, 245(2000), 161-170.
- [6] EL-METWALLY H., GROVE E.A., LADAS G., VOULOV H.D., On the global attractivity and the periodic character of some difference equations, *J. Diff. Equa. Appl.*, 7(2001), 837-850.
- [7] KOCIC V.L., LADAS G., *Global behavior of nonlinear difference equations of higher order with applications*, Kluwer Academic Publishers, Dordrecht, 1993.
- [8] SIMSEK D., CINAR C., YALCINKAYA I., On the solutions of the difference equation $x_{n+1} = \max \{x_{n-1}, 1/x_{n-1}\}$, *Int. J. Contemp. Math. Sci.*, 1(10)(2006), 481-487.
- [9] SIMSEK D., On the solutions of the difference equation $x_{n+1} = \max \{x_{n-2}, 1/x_{n-2}\}$, *Selçuk Üniversitesi Eğitim Fakültesi Dergisi*, 23(2007), 367-377.

ELMETWALLY M. ELABBASY

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE

MANSOURA UNIVERSITY

MANSOURA 35516, EGYPT

e-mail: emelabbasy@mans.edu.eg

ELSAIED M. ELSAYED

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE

MANSOURA UNIVERSITY

MANSOURA 35516, EGYPT

e-mail: emmelsayed@yahoo.com or emelsayed@mans.edu.eg

Received on 24.05.2008 and, in revised form, on 07.06.2008.